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g Do You UNDERSTAND? | Do You KNOW HOW?

Answers

1. Arcleng : .
the central angle. Sector area is a fracti

proportional to the central angle.

Luke used the formula for arc length for central angles or arc
measures in degrees, but the diagram gives the central angle

in radians.
A segment of a circle has as one of its boundaries a segment

connecting two points on a circle.

th is a fraction of the circumference proportional to
on of the circle area

4. A quarter of a circle corresponds to a central angle of 90°. A

sector with a central angle of 90° has an area of _396%7”.2 = %ﬂ'rz.
5. measure: 134°; length: %x
6. measure: 277°; length: %z
7. % radians
8. 320,
9.97-18
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Answers

10. No; arc length depends on arc
and radius of the circle, so if ty
have different radii, the arc me
will be different.

Measure
€ Circles
asures

11. Steve subtracted the triangle area from
the arc length, not the sector area.

12. 90°; Circle Thas center (2 3) and radlus 5.

XT has slope _Z and YT has slope
so these radii are perpendicular.

13. 24.3%; Each central angle is 72°, so the
area of each triangle is about 11.89.

#(5)% - 5(11.89)

5)2 x 100 ~ 24.3
(5

14.

15. &L

St nwunu W unie nearest tentn.
B

54° C

LESSON 10-1 Arcs and Sec

The length of the arc is given by the
equation s = ¥2:rr For any value of
a, the expression —27: is a constant,

so this represents a proportlona|
relationship.

o

4 3607 = 3657 2N% s
Mol s X i,
3607rr 36047” or m=4x

ToPIC 10| 425 | LESSON 1

4_4,
20. 5 v
21. %x

22.65.3
23. 115.2
24.743
25.48
26. 20.6 ft
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Answers
27. x = 22.25, y = 29.31
28. 20.2 cm

29. 933 in.%; Using the Pythagorean
Theorem, the height of the trian
associated with the segments is :

11.1in. Using trigonometry, the
of the sector is 119.5¢. S0, the ar

each segment is about 293.8 in .
7(22)% - 2(293.8) ~ 933

30. 16

32. Part A 765 ft2: The stage is a re

and a circle, byt one segment ¢
circle is included in both of the
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